20255 DIERIVF VT RARERT TFHTILR

FRES FRHA2 FE K4 25%&GD_G |PEt |25%&GD_P |pair |25%GS_G |24%&GD_P [24BGD_P
201/t ¥7 3|EM HWE 4 4
201 Jb%% JNA HE 4 4
205 2 3AF M 3 1] 19 2
205/ &k 3CEHF I 3 1] 19 2
206 1%1F 3T A= 6/ 16 10| 17 6
206 | #&iF 25K #EK 6] 16 10| 17 7 6
207 FEEFE 2 5@ 3R 6 2| 13 2 2
207 FEEFE 3Bk O 4 2| 13 2
207 FEEFE 2lUT =# 2 2
209| 774 LU 2 7 Ek 2 1] 18 1
209| 774 LU 3 KB SF 2 1] 18 1
209| 774 LU 3 =4 F0H 1 1
209 IR 1L 3B MR 1 1
201 || 2%F BN 6/ 40 10| 18 10 20
211 Em| 2K Fifd 6] 10 10/ 18
211 Em 3 Eib 7| 35 5| 41 6 10 20
211 Em| 2\ ¥H ZE; 7 5 5| 41
215| &% K JIAE KFi 6 1] 30 4 1
215 &k K 3|LUA #F 6 1| 30 4 1
215| &% K 2 BAH Xx& 1 1 25
215| &% K 2 KE #BE 1 1] 25
220 FB ES R S 2 2
220 FE 20MEA 2 2
220 FEB 2RE ER 6] 28 10| 21 10 8
220 FB 2 Bk &1t 6] 28 10| 21 6 10 8
220 FEB 3 &5 ETE 7| 15 5/ 38 10
220 FE I BR HIF 7 15 5/ 38 10
222/t FE 3 FIF 5 2| 10 2 1
222 dtFE 2REK B 5 2| 10 2 1
222 dtFE 21U ZE 1 1] 17
222/t FE 2/ 5H FIF 1 1] 17
223|ILA /MR Eidy 5 4 5 1
223| LM 3IMA BE 8 4 5 4
223|ILA 2BK BHE 4 4] 6
223|ILA 2|7t BEEh 4 4 6
223| LM 3|LUA EF 5 1] 20 4
223| LM 3|FEE XA 1 1] 20
223| LM 2 K¥ EX 1 1
223| LM 2/ s B 5 80 20| 13 6 20 40
223|ILA 21\ B 5 80 20| 13 7 20 40
223| LM 285K HE 6/ 40 10| 32 10 20
223|ILA 2kEH LE 6| 40 10| 32 10 20
223| LM 2 BE 6] 26 10| 22 10 6
223/ ILA 28K EN 6| 26 10| 22 10 6
225/ = 2l KF ¥ 6.5 11 6] 4 6.5 4 1
225/ = 21lLE ¥B 65 11 6] 4 4 1
226 S HRdL 3imZR B 1 1] 31
226 =t RES 1 1] 31
229 K& 2 #%F B 24 2| 9 2 20
229| K5t HFRX AR 24 2l 9 2 20
PRIEEE:S 3K Fm 2 2| 15
PRIEEES JFHE BiKHE 2 2| 15
PRIEEES 3|FiFE IBF 6.5 13 8| 2 1 4
PRIEEE:S 2 h¥ BHES 6.5 13 8| 2 1 4
233/ B 3 RER #WE 2 2
233/ JE @AM = 2 2
236| T [# 2 K HWE 16 10 6
236 T [# JIWH BE 1 1
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FRES FRHA2 FE K4 25%&GD_G |PEt |25%&GD_P |pair |25%GS_G |24%&GD_P [24BGD_P
236 | [ 3 ¥ OLF 1 1
236/| T [# JEF EH 1 1
236/ T [# 2/L B 7] 21 5/ 37 10 6
236 | i 3IER Bl 71 6 5/ 37 1
239 | SR 3IPE EHE 1 1
239| & B 2 xH# FOh 1 1
243\ AH 3 EAR FifE 2 2
243 ¥ A 3 TEE 2 2
245 M F 3 KB B 10 10
245 M F TR BFE 7| 15 5 34 10
245 | 45 57 35T HE 71 5 5 34
252| FAE AL+ A Bl 4 2| 12 1 1
252| FAE AL+ 245H REBE 3 2| 12 1
252 FAE A A0 3@ [3m 1 1
252 FAE 7R A+ 1EA5 2K EK 1 1
252 FAE 7R A 1EA5 2 BR O 1 1
259 | Tl 3Rl B 2 2] 11
259 | Tl 3 /0O FELS 2 2] 11
260 | TEE 3 FL BHE 6] 30 10| 27 10 10
260 | TEE 3 AT FIRFT 6/ 30 10| 27 10 10
261|AEVY;ERR 2hE BEHX 1 1] 32
261|AEV;ERR 2 AR ZiE 1 1] 32
264/ ILAK 2 TR EE 1 1
264 | LUK 2k Kb 1 1
264 LUK 2588 6| 40 10| 26 6 20 10
264 | LUK MWK (BHH 6| 40 10| 26 5 20 10
265|/\E IEE K 2 1| 28 1
265/ /\ & 3A/0 AmF 2 1| 28 1
271 | pal{= 57 2 Bk R 2 1 1
271 | pal{= 57 2EW TEE 2 1 1
271 | pal{= 57 2B EhF 1 1
271 | pal{= 57 2/IUKR EFK 1 1
279 £ 57 UK =EhF 3 1| 22 1 1
279 A% 212788 Bis 3 1] 22 1 1
282| = H# 3fIER £ 1 1
282| = H# 2=l BAEE 1 1
291 R[5 3dtE F/1E 1 1
291 RF5 3| FEF FFE 1 1
293/ JB 3 FE ER 5 60 20| 14 6 20 20
2938l 3|FEHE 1A% 5 60 20| 14 7 20 20
309 | & 57 NS EE 7| 15 5/ 39 6 4
309 {E %7 3EE 1= 7| 15 5/ 39 6 4
33148 2 FH KB 1 1] 23
331 &8 3 A FETE 1 1] 23
33148 3 LU B 7 25 5/ 40 7 10 10
33148 3| R FEF 7 25 5/ 40 10 10
405 ;RE 2 E T 4 4 8
405 ;L= 3 EF B 4 4 8
406|LVEYD 2kH =T 2 1] 29 1
406|LVBYD 3%FE EH 2 1] 29 1
470 | $&F0 2 H 4] 2 2
470 | %% F0 2|& EflFE 2 2
608| b= 258 BHE 4 2| 14 2
608 L= 1 IUE MR 2 2| 14
608| L= 2 EFH BER 3 1 2
608| F'= 2\[{HBE —7E 1 1
608| F'= 118l F05% 6.5 10 10, 1
608 L= 15 R 6.5/ 10 10/ 1
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FRES FRHA2 FE K4 25%&GD_G |PEt |25%&GD_P |pair |25%GS_G |24%&GD_P [24BGD_P
611X EF RE-:E 1] 200 100 1 2 100
611X EF 2/ luh g 1] 200 100 1 3 100
611 MKXFEF JME KB 2| 160 80| 2 3 80
611 MKXFEF AU EES 2| 140 80| 2 1 60
611X EF 3N u2 3| 200 60, 4 60 80
611 MKXEF I EH EFE 3/ 120 60/ 4 60
611 MKXEF 2\ EF 4| 150 40| 7 50 60
611 MKXEF 2 HEE 4] 90 40| 7 50
611X EF 25N ER 4] 80 40| 8 40
611X EF 2 A@A FH 4] 80 40| 8 40
611 MKXFEF 3= ER 4] 80 40| 5 40
611X EF 3MIA TEE 4] 80 40| 5 4 40
616 KPR 3IE #i& 1 1] 27
616 K 3MHE #BF 1 1 27
617 KPR A& 28H BE 6/ 50 10| 31 7 20 20
617 KPR A% 2 KR EmMm 6/ 40 10| 31 7 20 10
617 KPR A% I FHFET FEWR 6/ 40 10/ 30 6 10 20
617 KPR A% A FRPE 6/ 30 10/ 30 6 10 10
617 KPR A& 15 BER 6/ 10 10/ 19 6
617 KPR AL 18K EAR 6/ 10 10/ 19 6
617 KPR A& 2 H EiE 7| 15 5/ 36 10
617 | K Bk % 2/ INE FK 7 15 5 36 10
617 | K Bk % J LR (BH 7 7 5/ 42 7 1 1
617 KPR A& ESGEE S 7 7 5| 42 1 1
618 REFE 2BHEA XBF 20 10 10
618 REFE EAIESS 5/ 50 20| 11 6 20 10
618 REFE AT 35 5/ 50 20| 11 7 20 10
618 REFE 1658 FiE 6/ 10 10| 24 7
618 REZE 1380 61 6/ 10 10| 24 7
618 REZE 2 - BER 7| 25 5 33 5 10 10
618 REFE 1k #F 71 5 5 33
623 KIRIEE 3EA KB 3 1| 24 2
623 KIRIEE 3 BIR 3 1| 24 2
632 ;R1E 3| FF FHE 1 1
632 ;R1E ) HE 1 1
642 BEE U S 4 2| 16 2
642 BEE 3 Efk /NEE 4 2| 16 2
652|318 F 9= Pr 3 FLE HIE 7| 13 5/ 44 8
652|318 F 9= Pr 3JEF EM 7 13 5/ 44 8
653 = H8 JRE WS 2 1 1
653 = H8 258 Ef 2 1 1
655| KPR E R 2 /AR BT 4 4 7
655| KPR E R 2 &5 EE 4 4 7
661 | H{EBR = E 3 =EE HNi< 40 30 10
661 | H{EBR = E 2810 B3 12 10 2
661 | H{EBR = E 2EH HE 12 10 2
661 | H{EBR = E 3BEF ER 3] 150 60, 3 4 30 60
661 | H{EBR = E 3| FHH FHE 3| 150 60| 3 4 30 60
661 | H{EBR = E 3T BE 4] 110 40| 6 5 30 40
661 | H{EBR = E 2\ HK FEE 4] 90 40| 6 5 30 20
661 | H{EBR = E 2ER B 5/ 90 20/ 9 5 30 40
661 | H{EBR = E 2 EH E® 5 70 20| 12 30 20
661 | H{EBR = E 3I4E FF 5 60 20| 12 30 10
661 | H{EBR = E 101 F&E 5 20 20 9 4
661 | H{EBR = E 1k B 5 20 20| 15
661 | H{EBR = E 1% EfR 5 20 20| 15 7
665| R KIRAE 3 FH FE 1 1
665 B ABRE 3 FHE FifE 1 1
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FRES FRHA2 FE K4 25%&GD_G |PEt |25%&GD_P |pair |25%GS_G |24%&GD_P [24BGD_P
668| B Fata4l 2 K¥ XE 60 20 40
668 | B P f24l 3T BF 5 5
668| B Fata4lt 3BT (X5HHh 40 40
668| B Fa a4l 3deit ¥ 40 40
668 | B P f24l 3|RA 1ZF 10 10
668 | B P f24l 31k = 2 2
668| B FEt24l 3 B 5 60 20| 16 20 20
668 | B P24l 28 Z&H 5/ 60 20| 16 6 20 20
668| B Fata4lt IIUT PBWE 5/ 50 20/ 10 20 10
668 | B P24l 3=l A 5/ 70 20| 10 7 10 40
668 | B P f24l 2 KE BE 6| 40 10| 25 5 20 10
668 | B P f24l 3 EAR A 6/ 40 10| 25 5 20 10
668 | B P24l 28HF FHE 6] 22 10| 23 6 10 2
668| B FEt24l 1HAE Eff 6/ 10 10| 23 6
668| B FE 124l REIERGES 7| 10 5/ 43 5
668| B FEt24lt 185 1&& 71 5 5/ 43 6
671 | KR #xiR 3 —Ix 4 1] 21 7 1 2
671 | KR fxiR 2UNRE B/Y 4 1] 21 1 2
674 ;5% FE 3 EA E# 6| 40 10, 28 10 20
674 ;55 E 3B HE 6| 40 10| 28 10 20
678 K KR IWHF 5 2 2
678 K KR 3IMF EF 6/ 30 10| 29 7 10 10
678 K KR 288 BE 6/ 30 10| 29 6 10 10
678 K KR 3| ¥ & 6| 20 10| 20 6 10
678 K KR 3 EBE XZFE 6| 24 10| 20 4 10
678 K KR SMEH FE AN 79 5 35 4
678 K KR IHA FFE 7| 17 5/ 35 2 10
687 KR & % 2mA #F 2 1] 26 6.5 1
687 KR &% 3EK B 2 1] 26 1
687 K& % MWK EHE 6.5 20 6] 3 4 10
687 KR &% 3ElF XE 6.5 20 6] 3 4 10
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